
NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

IP00185

BRAKE B75 D200 SPLIT T30 Plan No.
E00071308/D.1

Scale: 1:5 Drafted Verified Confirmed
Date 27/11/2023 11/03/2024 11/03/2024

Initials TT TT PJ

- Right side depicted

Sheet 1/2

VERMEIREN

4

5
11

26

20A

29

20

A

1

3

6

7

8

9

10

12

13

14
15

16

17

18

18

18

18

19

21

20D

20E

22

23

24

25

25

20C

27

28

2

20B

Detail A

Use M600101
to set brake force



NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

IP00185

BRAKE B75 D200 SPLIT T30 Plan No.
E00071308/D.1

Scale: 1:5 Drafted Verified Confirmed
Date 27/11/2023 11/03/2024 11/03/2024

Initials TT TT PJ

Material
No. Plan Article Qty

1 P00070048 (R) 2088154 1

P00070089 (L) 2088054 1

2 P00070073 (R) 2088554 1

P00071040 (L) 2088454 1

3 P00070988 (R) 2088354 1

P00071012 (L) 2088254 1

4 X001308 G051700 2

5 X001309 G051800 2

6 X002134 1992411 2

7 X002139 1992426 2

8 X002140 1992427 2

9 X002141 1992435 2

10 X002165 1488300 2

11 X002265 1500054 2

12 X005274 17937 2

13 X005276 1793900 4

14 X005306 1910033 2

15 X005836 G102700 2

16 M6x16 DIN912/8.8 1001492 2

17 M5 DIN125 A 1001550 2

18 M6 DIN125 A 1001564 8

19 M6 DIN985 1001680 2

20 --- 3991657 1

20A --- 1994012 2

20B --- 1920856 2

20C --- 1920854 2

20D M6x10 1003282 2

20E --- 1004109 2

21 M6 DIN7349 1003321 2

22 M6 DIN127 B 1004414 2

23 M6x35 DIN6912 3991947 2

24 M6x50 ISO7380 1006997 4

25 M6 DIN986 1008492 4

26 M12x100 DIN931/8.8 1009034 2

27 M5 DIN986 1992804 2

28 --- 3990133 2

29 12" PU BLACK 3992836 2

Sheet 2/2

- Quantities for one set (L+R)

VERMEIREN


